

Quotation

Velaa – Volvo Spares Oct 21

Date 22 October 2021

Quotation Number 132339

Expiration Date 21 November 2021

Quotation Total £4,139.69

PR NAUTICA

From PR Nautica Ltd.

Eastern Hangar, Lawrence Road Plymouth, Devon PL9 9SJ

iB

TO VELAA ISLAND MALDIVES PVT LTD

M.Uniya 4th Floor Fareedhee Magu Male'

Task	Rate	Qty	Amount
Exhaust pipe 3838891	£1,719.36	1	£1,719.36
Availability 18 Weeks			
DL 470077	(4.22	4	64.22
Plug 479977	£4.22	1	£4.22
Adapter 821335	£11.23	3	£33.69
Gasket 469328	£3.74	11	£41.14
Plug 467367	£12.38	8	£99.04
	2,2,50	Ü	233.0
Hexagon screw L=110mm 970961	£2.11	12	£25.32

Spring washer 941908	£0.12	12	£1.44
Gasket Included in gasket kit 847778	£60.29	4	£241.16
O-ring Included in gasket kit 477059	£5.66	4	£22.64
Nipple 479954	£12.29	1	£12.29
Plug 861551	£4.80	1	£4.80
Plug 968146	£4.22	1	£4.22
Gasket kit See group 99-876625	£93.41	4	£373.64
Sealing ring 831622	£4.22	4	£16.88
Plane gasket 420641	£3.55	4	£14.20
Gasket 420618	£5.09	4	£20.36
Stud 924081	£3.65	8	£29.20
Washer 955895	£0.13	8	£1.04
Spring washer 942336	£0.12	8	£0.96

Hexagon nut 940183	£1.25	8	£10.00
Gasket 470993	£2.11	4	£8.44
Rubber moulding 469601	£7.97	4	£31.88
Gasket 469328	£3.74	4	£14.96
Rubber moulding 471626	£4.90	4	£19.60
Sealing ring 831622	£4.22	4	£16.88
V-clamp 3807212	£44.45	4	£177.80
Exhaust pipe Elbow 3830988	£582.72	1	£582.72
Gasket kit 876625	£93.41	1	£93.41

 Subtotal
 £3,621.29

 Shipping
 £518.40

 Total
 £4,139.69

Terms

Please note our terms of business that apply, as per British Marine Federation Terms of Business Edition 15a.

Our full terms and conditions can be found at https://prnautica.com/terms-of-business/

	Pound Sterling (£)	Euro (€)	
Account Name:	PR Nautica Ltd.		
Account Number:	23222691	46975188	
Sort Code:	20-68-10	20-68-10	

	Pound Sterling (£)	Euro (€)
IBAN:	GB73 BUKB 2068 1023 2226 91	GB94 BUKB 2068 1046 9751 88
BIC:	BUKBGB22	BUKBGB22

Registered in England 05692821, VAT No. 878 3861 63, EORI No. GB878386163000





♦ https://prnautica.com ⋈ web@prnautica.com